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About on the techniques that used basic mathematics to draw

a regular polygons with simple ruler on large-scale Grid board

Masakazu TAMAKI

We have drawn the special n square shapes(regular o polygons ) by Euclidean geometry methods.But possible n
is restricted as the multiple of power of 2 ,special prime numbers, 3,5,17,257,65337,.. .but they are square-free.
If n tends to large , an accumulation error from methods of Euclid ,also grows big. Like in a problem of drafting,
one draw regular 64" polygon, but that is an unrealistic demand even if it is for the train courteousness and patience
feeling. In case regular n" polygon in an unit circle, we can draw them by diagonal line which join first top z, and
1" z or one side, accompanied accumulated error specially which of  the needle of compasses. In contrast, we can
get x- coordinate of z, with necessary precision by a trigonometric function directly numerical value, but it becomes
difficult to realize on the coordinated plane. We can improve it by use the method of continued fractions . Finally we
adds roughly explanations for the case of regular 17polygon (heptadecagon ), regular 257" polygon (diacosipenta-
-contaheptagon) drawn by Euclid method ,and the table of primitive root modulo p(prime) .

KEYWORDS : regular polygon , continued—fraction, problems of drafting , primitive root
Rular and compass , Frobeius permutation , heptadecagon

1 BB WTIERI L, BiiC, SR, | OFGiRES S
AEhe AW VERE R R LT s, ZORNT, =7
VVEOFEFE Y 7 MY 7 )& H

ERLE T NAZHOTEZ AP, WD EIZLD, Thb &R ATED
4 8 .16 O 2 ORFAF, THUZ3 O T,

DO AT~ 3,6,12,24 T, 17,257 %D

RSB AT MERTRE T H 5, TS T,

BMPG, TES ZH-MT D50, 64 AT TH- 2. ERFEORY TS

Th, HEOBRZESEORRRECEE LW

ZES T ERHERR, ST L, T A AV HNOIEI X0 Bk
AFETIE, EOEGITEIC & 0 EEREE O A ] BRDNER LIZFENDIE D L ST 5,

*1/MLUREEA Z 0% (honorary professor), E-mail: tamaki @oyama-ct.ac.jp



114 TR

BEROETTO-0OI12, #EE- THIEE Lz,

VDR S 1 4 : 5 O3AFRNEAIAET
BHDHTED TTITEHI TV, ZOTEND,
TEHE 2L 2B AWza—7 1y RE&a52)8
WBE-oTmtEbh 5,

DIRTIE, R, Mo Bl 222 58 1%, 8
10cm OHWIZIE 3 2 f4IF, 1E6 4 fAEO1EX
MEE 52 bWz, 1B (E441) O

9

| E16/%

1 E16MEE 3 2HEOEX

ERERSE
E32A%

3. &LHMSNTWBIEZ AR,

2 DRAFELUSNDEN LA TIL, n &HRfE
WCHDTESRZRD T, 2o CUIRHAERR 2H
J# Elck 2 iz > TRV, Bz, 1E6 £
T, 1 ORI EF L THDDT R~

L Lo TWHEE 6 AEAS S,

/

BURICrET
BIEZ A

X 2 B2 NIZIE 6 AT A4 <

4. /E

EHRE L RRAEHWD FETIE, oM, M
O R DEL 2 ENFREDER E 72> TN D,
Jtx . TV MEROBEIEICHRRENG T

_EE_

BA%E2ENTHE, ESAENHEKD, HIZ
2% LT L, 1 6/, 32fALE
o, ZORRICHMLTETH LD, 3 2D
-0\ h L a2 eHL, THAICKRE
TRPINGEE | KRRBIRIESATEMET 72 TR D,
FEE. ZOHOTNHKDOFRFED A A B —
2725 TN D,

W, MEREVWSBIRTHD, BUETH, &K
EFRICHHOEMEINE S, EET D & XTI
KDHIZFLOIT, WFT 5 & EITITHRD 72T
RBICHET D, ZOBEOFWERICHIEOERITH
MBAON=D T, BRENEUTZE W), #TOH
DFHRTHD,

ERLE T RAZ AL, EARITHI R
RSLTH, 0.lmm. 4% 1 0 c mDMH T, 1/1000
BEOMENSIEERICERESINTLE Y, X
T, HIEITEEH TRVLOT, FEa—2r 1 v R
LRRAHIEN LB AR 5,
FHRORITET T, 37k AR o7, B,
i, EAZERT2DIIHEE ERARETH D,

5 TERRBESREDRR

THERTIE, SSTLEIFERE LY, BRE
DN, ERR EA R D,

BlE LT, SHTED LWH HFET, Faosr—
@ ]

PERT 5 NEEZXTHL D,
K3 EmEy—ofERRE
FRFE 10 VnVERE RO AENHKR S,

ZORRIZ UCBRSE O, S, B, B, B,
A SOMERTE D,

6. 1E7 ARDIFX

E7ABEHANTHAE S, Cos, X, sin DfE
X, =7 8L EFIH L TRSIZRD D Z Lotk
%



HOMWT ) v R« R— RICIEZ AR ZIERT 2 W78 2 W8 kI DONnT

R1 ET7TAVOIEED x FEFE

B

cil.2)

e

A(_SJI)\
1

- 3 2 -1

20 —y=0
r+4y=1

B(1,0)

~1

k pie 314159265 oS sin

1 2k pie/7 08970979) 0623439802 | 0781831432
2 2k pie/7 17951988] 0222520934 | 0974927912
3 2k pie/1 26927937) 0900968368 | (0433983739
4 2k pie/7 35903916 0900965868 | 0433883739
b 2k pie/7 443795901 | 0222520934 | 0974927912
g 2k pie/T 53005674 | 0623433602 | 0781831482
] 2k pie/8 £.28315531 1 —£.46228E-15

I —F i EIHI< b Z TRV T
OB, ANEIRZ U v R EICH <2,
1/1000 LA EOREEECHE< DIZiE 1000 BHEEY |
10000 HEE Y OE R & ERNRMLEIT R D,

cos( 2n/7)=0.623489801858734  cos(8/7)=-0.900968867902419
cos(4n/7)=-0.222520933956314  cos(10n/7)=—0.222520933956315

cos( 6/7)=—0.900968867902419 cos(12n/7)=0.623489801858733
cos ODME F, F¥33E LRI T, &0 3 1A
DMEH 72U 72 URMERI FTRECH D,
Z 2T 3HHDIARD x JERE A IRk T
B & D, HYEEAWT, BN RTL L
cos(4n/7)=—0.222520933956314,

cos(4n/7)=—0.222520933956314
-1
—0.222520933956314

1
1.49395920743494—1 2 V2445866976113

2
I 2 cos(4n/7) +5

=4.49395920743494

1 9

4"“3 ==0.000298711734092118 |

2 i) OREDIETH S, |
SREZ Y Y R RCER BT

2 -1
HRIIRN =
1 4

72 BN 1 RITREAE AR T vy,

|2 0
1 1] 2 2ox—y=0

r+4y=1

=4 Aaqo%ﬁgﬁﬁ@y@%ﬁ-émﬁé

BOELISN TS, =2 — FAEZ W TRER K
FORNPHHK D,

7. Za—b2ETORL

2’ -1-0

21~ 2-1)(2%+2 +2"+2 2 2 +1) -0
2=cos(2n/7)+ sin(2n/7)

2 =cos(4n/7)+i sin(4n/7)

zszcos( 6m/7)+i sin(6m/7)
242608(8n/7)+i8in(8n/Z)
2’=cos(1 Om/7)+i sin(10m/7)
2°=cos(12n/7)+i sin(12n/7)
(PR
z+26=2008(2n/2)
22+z5=2003(4n/7)
z3+z4=2003(6n/2)
DIl Z R DIUT LV,
Ffgia
2Pal vt vl vl v+l

3 =
Z

1

3 2 1 1
R AZ+R+I+ o+ +—=0
20z

LA TET,



AR IE—

HEND,

1
w%fE&%Q

13—&x+13—2+x+1=0
LRMEIZZR D . Z O

2k
2cos (—7“) k=123
Th 2,
2T
y:x3—3x+x‘ —2+x+1
'2/\ 0 J |
X5 yﬁfﬂ%HxKZmﬁ1®7?7

2
X==2 73DhfH5 EBER 8 ~9 w155,
ZOYEES R L ARSI SN D1E, 2%
DIREDNE THARV 23 01TEWV DL TH D, ==
— M AL O BEERE D B VB EL T SR D 5 FH
Hk D,

Y"=6x+2

KT

Hi23 0 Z2IADT= 7T 7 DFIR

B6 2R
8 HObLDXEA

ETOIERBAIONWT, =a— hriElif
DRI LD —ET D EED &L 2B
(=) 2MEOUT TOIZIEL e 9 <D
SETERV, 1 1ATE. 1 3 AT &Ik

cos( 2n/11)=0.841253532831181

1
0.841253532831181

1
1.18870228887428—1

1
5.29935278456656—5

1
3.34054016383353-3
15
1 63
1

=1.18870228887428

=5.29935278456656

=3.34054016383353

=2.93651118488579

0+

I+

5+

3+
3

53
cos(2n/11) 63" —0.0000163084386600598

3x-3Yy=—2 10x+11y=11

3 -3\ (3 -
(M IJ hO H) Y = 0.841269841269841

T1/100000 DFEFECE E05 2 L AR,
9 FE2DMIcHRHEYT HESHEA

EEROVERI L, 82 oM Z W=
BRZENDIRN, ZDTEDICIE, =2 — h B[R

2k
t<. x=Zcos(Tn) BN D,

4
2c0s (1_7;) _1.13612949346231

1
1.13612949346231-1

1
7.34594667596312—-7

1
2.89061890019896-2

=7.34594667596312

=2.89061890019896

=1.12281470758885




HOBWT Y v R« R— RICIEZMAEZIERT 2 050785852 AnzfikiconT

2c0s(2E) 25 _ ) 000234142901324744
COS\73) "2~

19BDOH T AN, BOFRTRALIZESDONDIE
17,
2c0s(8n/17)=0.184536718926604

1
0.184536718926604

1
5.41897572372971-5

1
2.38677313114476-2 =2:58549500850855

1
2.58549500850855-2

1

=5.41897572372971

=2.38677313114476

=1.70795649060669

1.70795649060669—] 1 H1251618522541
1
1w

S5+
2+

1
1

2+

1+T

12
2cos(8n/17)— 5 =—0.0000786656887805834

‘(—55 67”:55 ‘(_02 67)‘:12

DIERTRD D Z L HHK D,

Sx+6y=0
=5+ 7Yy=-2

10 17 BROEREIVINAILELS
EX]

BALM NI IZIE 1 7 ATEOTE I
T

2 1=(2=1) (2P 42222 D) =0
DFRIZ72 5,
P P P 125 z2r1=0

WL 2 IRHERZ 4 [0 IR LT (TER4 52 &

117

272 5,)
E<mbn T s, EHROESOIERZ1T-
T%LJ: 50

) 1 c a
K7 TH(RE)DEHLY  op-ya L72D.

N 27[ .. 27[
i U E E=COs—+i 8in— ot

ERH LT, 2UIEREHHER TN,

=2

a"mod(17) DR

KOLIIZ, 31 L mod(17) THIAR TH 5715,
1+6°(1+6° (1+6%(1+6%)) ) ¢
=C+C9+C13+C15+C16+C8+C4+C2=x0
G (1 +Gz(1 +Gz(1 +c52(1 +c52) ) )) g
=C3+C10+C5+CH+CM+C7+C12+C6=x1

D 2243 T B,



e e e
xxac,=4 (Q+Q2+Q3+Q4+Q5+ ...... ++le) =

THEME,
Xy, LR, UH—4=0 D8Iz b |

1 1
t= —?E/\;}f? AU 'VE.THBO
e T
10 11 7 & J—
O =y, X pa=1 L%

XX 4=2,

Llg= (‘; e M) —]

X I HRA, t—xt—1=0 O 0,

=—x -|— x +4 ,f/'}:.j‘ﬁbo
g +§ +C +§ =3C4 XL X=Xy
§10+§11+§7+§6=965 xx=1  Lys¢
1

1
t= PRI ary x+4 VEXIFTRE,

(1+6°) c=g =04 'z,

4 &, A .4

o1+ =t " =x, L
Xt =X, XX~X,

ioT\fﬁQHWf0®ﬁﬁﬁé

11 .
t= PEZar) ac —4x,  FTEXATRE
{=axg (M=(=x, Lt %

X 8+DC 9=JC 6 xX 8xx 9=1

;of\ﬁ{%ﬂkﬂwﬁmﬁé

1 1 s
t= Ex"iE .’L‘ﬁ—il VE AT

AR IE—

11 1E257 &R

Eoey FTTIHXE. 257 4T, 65537 4T
TERE a2 XA TR AEETH D03,
RETHA D,

257

4

%3  3"mod(257) n=

-1=0

- =
— —

2. TV CEHE L

FATIIAH]

D7 aR= AEBROR T 5,

LILER, IE 17 AROEXHFTHLIN, HEOE =

BEDT, WML TRz Z LlThb,

1E6 4AEOER LY | KEIEL 2255085 33

‘G% 60

|8 | FisiR | W3 | FGiR | BE | AR | ## | R
1 3 H 166 2l 127 121 a1
2 a 42 P az 124 128 183
3 27 43 110 a1 15 123 202
4 Al 44 T a4 a8 124 az
b 247 45 210 a6 7 125 14
7 215 48 143 a6 21 126 57
7 131 47 172 a7 7] 127 171
2 126 48 2 a8 120 128 256
a 151 44 3 a4 a3 129 254
10 106 a0 13 a0 160 130 2da
11 T4 51 54 a1 220 131 230
12 2oz a2 162 9z 146 132 176
13 162 52 2g a3 181 133 14
14 100 b4 173 94 29 134 42
15 a3 58 g a5 a7 136 126
16 240 1i1i] 15 17 4 136 121
17 233 57 45 a7 1z 137 108
1% 185 ha 136 L 36 138 a1
19 4+ &0 148 L] 108 139 183
20 123 G0 187 100 67 140 35
21 1z a1 47 101 ] 141 108
2z T G2 14 102 a9 142 L]
2% 237 (7] 166 103 10 143 174
24 1a7 Gd b 104 20 144 E
25 7 iki] 209 105 a0 145 24
26 bl GE 113 108 13 146 T
27 174 a7 azr 107 a4 147 e
28 23 3 245 108 17 148 1234
20 1] ] 2iq 109 94 140 145
a0 207 0 168 110 25 160 178
H 107 il 217 111 5 151 20
32 fi4 Tz 137 1z 2rh 152 7]
33 1ag T3 164 13 161 153 120
34 62 T4 205 114 i 164 20

186 78 1 118 164 156 Te
36 44 Th 46 116 236 166 234
3T 132 77 128 17 1M 157 128
130 78 1657 1132 L] 168 a0
30 160 7a 214 114 177 1549 180
40 2a: 20 122 120 17 160 102




HOMWT ) v R« R— RICIEZ AR ZIERT 2 W78 2 W8 kI DONnT 119

o Tios | oo Tom [ oo T | [VALICDEr-0A10A25 L5ICE £ LS,
162 195 186 122 210 123 234 | 244
163 Hl 187 104 211 142 235 218 ~ODE=EOB . OEB=2 ODE-= OBE =~
164 213 138 o 2z 164 236 140 ,AOB:,OBE+,ODE:3,0DE 2 4{§ GL
165 1285 189 210 213 250 237 163
166 | t1g | tam | 11g | e14 | zas | zam | sz LT, 3AFEEZHIZIE S L TYT<EHET
167 a7 101 a1 215 104 231 132 EQRTTHET BN, ZOHETERL a9
163 24 102 16 216 68 240 22 DIE LU I & 283 B ATV,
164 102 102 43 217 204 241 a6
170 49 194 144 218 98 242 3
171 147 195 175 219 37 243 a3 HBGEE T
172 134 196 1 220 111 244 22
P P 0 p” e 0 P e cos(2n/9)=0.766044443118978
174 | 114 108 99 oo 2og 245 103 7
175 5 199 40 223 170 247 50 =1.30540728933228
176 255 200 120 224 253 243 240 0.766044443118978
177 251 20 103 225 245 249 206 1
178 239 202 52 2oF 221 250 104 1 30540728933228—1 =3.2743160852065
173 203 203 156 227 149 251 55
120 a5 204 211 2og 190 262 165 1
181 28 205 19 220 56 253 233 3 2743160852065—3 =3.645429684691
182 24 206 100 230 168 254 | =200
183 252 207 43 231 247 255 86 1
184 | 24z 208 120 232 227 256 1 2 6451296846913 =1.54935545066966
2 2 2 ! 1.82031505973229
Ito’ (1407 (1407 (1407)) ) =2, 1.54935545066966—1 .
G(1+....+62(1+02(1+02(1+02)))) &=x, 1 2%
LR, 1T ABLR U T 1R 0+ 7 47
AHETH B, L———
H—
1
3+ 7
12 Em. [E9AR L
3
F0D 3ENTER & 2 L SR TSR AR, COS(ZT:/Q)—47:0.0000869963104673717
PE-T, E9AEL 2L RRAZHWTER T2 2 P 4 s
LIEHRZR, ‘(4 9 ) ‘347 ‘(0 9 ) ‘;?6
3x-5y=4 4x+9y=0
L%,
E
D 13 &fEIC
O
- MR R T, ESATEARHI OIS &
e z S D T
B8 _aoB &3%45T5 LV, RRICTE 1 7TABOHET, milT—) =

ZEHDFIEIAL TS SEAS, VY,
ZDREIZOWTD THFEMOF I, BHATEX -
AN

(ZHHEHH 20164 9H30H]





